
����������	
 �� 
���

	�����
 � ������� 
                     ����
����� �������
��� �
 
���

	���� – ���� 
                        57-�� �������	�� �	�
����� �� 
�
�
�
��� 
                                    �������� ���� - 15.03.2008 �. 

 
                                              VI� ���� 
 
���.1  �� ����, ����=45� � ����=75�. ���	
 ���� �� 
 ������
��  
���
����� ��=2.�� (�.� 
 �
��
 ������
 � � �). ����� N e �� �������  
��, ������ �
 �N=BN (�.� 
 �
��
 ������
 � � N). 
a) �����
�
, �
 �.� �
�� �� ���
������� �� ���
����� BN; 

3 ����� 
�) ���
�
�
 �����
 �� ����.   

     4 ����� 
���. 2 �����
�
, �
 ��������� �� ��������� �� ����� �
�
��� ����� �  
������� 1 �
 �
�� �� 8. 

7 ����� 
 
���.3 �� �
 �����
, �
  �
 �
�� �� 10. 120072008 �

                   7 ����� 
 
 
 
 
 

�� ��	
��
� ���� �
 ���
� ������
�� �
�� ��
����, �
 ����� ����� �
  
������
 
 �
�-�
	�� 16. 
    ��
�
 �
 �
���
 – 4 �
�
. 
 
������ �� 	
���! 



57-�� ����
����� 
�������� �
 ���������� 

������� ���� - 15.03.2008 �. 

 
�������� �������� 
� ��
	���� � 
����� 

VII ���� 
 


�� .1  �) �� BN=CN � �BCN – ����	
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�NCB=�NBC=75o � �NB�=30o (1) �             1 ��!�� 
�� ���� � ����=60	 (������ �� �NBA) � �ANB=30o (2)  
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